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SA |SAIC8BS008 |A060 ITALIANO |I 2 [MM |DI GENNARO |SERGIO 1 36 22 0| 78 136[{NO X

SA |SAIC8BS008 |A060 ITALIANO |I 2 [MM |ASCOLI GERARDO 2 36| 12,50 0] 66[ 114,50{NO X

SA |SAIC8BS008 |A060 ITALIANO |I 2 [MM |GIAQUINTO |CLAUDIA 3 36 23 0] 52 111{NO (X

SA |SAIC8BS008 |A060 ITALIANO |I 2 [MM |PALLADINO |RAFFAELE 4 36 15 0] 18 69|NO [X

SA |SAIC8BS008 |A060 ITALIANO |I 2 [MM |APICELLA SIMONA 5 29| 14,50 0] 20{ 63,50{NO X

SA |SAIC8BS008 |A060 ITALIANO |I 2 [MM |[MANCINO ANIELLO 6[P 8 12 0| 36 56|NO [X

SA |SAIC8BS008 |A060 ITALIANO |I 2 [MM |NARDI GILDA 7 29 12 0] 12 53|NO [X

SA |SAIC8BS008 |A060 ITALIANO |I 2 [MM |NOVIELLO ANNAPIA 8 4 21 0| 24 49|NO

SA |SAIC8BS008 |A060 ITALIANO |I 2 [MM |ANNUNZIATA |KATIA 9 29 5 0] 12 46|NO

SA |SAIC8BS008 |A060 ITALIANO |I 2 [MM |LANGELLA EMILIANA 10 30 8 0Ol 0 38|NO

SA |SAIC8BS008 |A060 ITALIANO |I 2 [MM |ESPOSITO MARIANNA 11 5 0 0] O 5[NO X




